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Linear Equations and Chapter 5 Review
Solving single variable equations, including those with parentheses:
[image: ]
· 5-61. This problem is a checkpoint for solving equations.  It will be referred to as Checkpoint 5.   
· Solve each equation.  Show your check
b. 3x + 7 = −x – 1



b. 1 − 2x + 5 = 4x – 3




b. −2x − 6 = 2 − 4x − (x − 1)




Solving equations that have fractional coefficients:
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· Solve each equation.  Show your check for the first one.
1. 


2. 



Systems of equations - solving for the intersection of two lines using the equal values method:
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Quick review of graphing a linear equation:
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Example 1 Solve 3x+3x—1=4x+9

Solution 3x+3x—1=4x+9 problem
6x—1=4x+9 simplify
2x=10 add 1, subtract 4x on each side
=5 divide

Example 2 Solve 2x+1—(=3x+3)=—4+(-x—-2)

Solution “2x+1-(3x+3)=—4+(-x-2) problem
Dx+1+3x—-3=—4—-x-2 remove parenthesis (flip)
x—=2=-x-6 simplify i
P ac_ld_ x, add 2 to each side
divide

x==2
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Example of Fraction Busters
Solve: $+£=6

Multiplying by 10 (the common denominator) will eliminate the fractions.
10(5+5)=10(6)
10(3)+10(5) =10(6)
5x4+2x=60

Tx=60=x=9=857
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Example 1
Find the point of intersection for y=5x+1 and y=—3x—15.

Substitute the equal parts of the equations.

Solve for x.

Replace x with 2 in cither original equation  y=5(-2)+1

and solve for y. y=-10+1 or

y=-9
The two lines interseet at (-2
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Find the point of intersection (x, v) for each system of linear equations.

1. y=x-06 2. y=3x-5 3.
y=12—-x y=x+3
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Slope-Intercept Form
y=ma+b

“This form is the most commonly used to represent linear equations. This form is the best way to find the slope
andy intercept of a linear equation, where m is the slope and b is the y intercept.

Let's plot this equation using the slope-intercept form.

Comparing to our general slope-intercept equation, we can see that m = 2/3 and b = -4. Plotting this on a
graph, we can obtain our line.
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